MathLinks 9 Practice and Homework Book
Chapter 5 Answers
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a) & — 5, where £is Sarah’s sister’s age

by 2{ — 3, where { is the length

¢} p + 14, where p is the perimeter of the triangle

) 1]5” or 2 where # 15 the number of tickets the
school éxpected to sell

T.alp+p+p+pordp

b} Example: The length of the rectangle is 8

units more than its width.

5.1 The Language of Mathematics

svmhbaols, variables

. polvnomial, monomial, binomial, trinomial

. exponents, highest

. a) 2; binomial b) 1; monomial b 3; trinomial
a4} 4 polvnomial

22 22 )0 a2 3
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1. a) Sn bh wiw + 5) or w™ + Sw ) 0.8x + 40

5.2 Equivalent Expressions

Lada, b by —=7; 1 for w, 2 tor x ch No
2. x* should be circled in each term; —2x°

3. Mo. They are not like terms because either
the variables differ or the exponents of the
variables differ.

Loayl; 1 by—=3;1 cvé; 2 dy no value: O
e—1:2 012

0

ca) —ed, —xy b —od, —xp, =3k ) &2
a) 9r, dx
6. a) 3r, —r b} —4y, 0.3y, 1_|5 ched, bed
7. Examples:
ap S —F— Se+oc+9—8
by3nm +2mr+Em—6m—9+6
chht— SR —Bd+ 38+ 7-2
#. The order of the terms may vary
ap =+ 5P+ e -8+ 94+ 7
b4l -3+ Tr+er—5+ 1+ 13+ 9
=2 -3 +n+m+3-T
=5+ 14n—4

i 3_11 - 15_1: + 3_1' + 2_1' +4—-6-—5
345 -7

936+ 4
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(ML9 Practice and Homework Book, Chapter 5 Answers continued)

111, a) Example:

s 15

i+ 5 5

I made the shortest side, £, 10 units. It 5= 10,

then 2 + 5 1s 15 units, 2515 20 units, and 3s1s

the longest at 30 units.
b} 7s+ 5
11, a) =700 + 215 b) 3460

5.3 Adding and Subtracting Polynomials

1. A 2. opposite
JalSy—2 M -—-F+2c—4f+Tr—06
doaldd—1 by—am* =S c)—r*+r—9

5B
6.al

- -
X — L

Tap3? by —6g+ 3 ¢) =2 +45-7
D AE + 3d+ 6 e) e+ 8k— &
Soal(3r— 5+ [—5?‘—23;—2?‘—_ 7
By is =37 +i—4+5 02+ 2f
cHi—drr+ 5+ + 9 =3+ 14
dy b + 2a— 5) + (—da* — 5a— T
2at—3a—12
Goal(x+ 3+ 2x+ 2)+(2x)
b Sx+ 5 ¢l x=4; Verifv: 5(4) +5 =25
I al x + 2x+ (x— 10) bydx— 10

5 ChapterLink

1. Examples: a) 53° — 3x + 10 b)-33* + xp
2ap2d -9 b} 2t +a+ 3 2P+ r+3)
3. a)d Example: Let & = davs and & = kilometres:
(354 + 0.2k) + (154) + 200
b B4a0

5 Vocabulary Link

l. polvnomial
2. like terms
3. term

4. trinomial

5. binomial

i descending

7. monomial

8. algebra

9. degree of aterm

1. degree of a polvnomial

Chapters 1-5 Review

Loa) 3x® — 2x + 7: 3, 2, trinomial
by 3; 1,0, monomial
e) 9x + 597 + By 4+ 6x 4 57 5, 2, polvnomial
Loa)=dx ol forx, 2fory b)—1lia 3
€} none; none; none
L4, T, (=2, 52,0
4. Examples:
ah 37,3844 b) 180, 182.25 ¢)0.05, 0.0529
dp 0,30, 03249
A=, 4), BY=3,2), C=T7,2),
D¥{—7,8), E{—1, 8)
Yes: rotational svmmetry of order 2.
G.a)= b} < cj> dj<
T.462.4 cm?
5. 12:30°, 5
%, a) approximately 306 124 000

L

'JI

b} approximately 11 213 333
¢} approximately ET%
10 a) Jo2 1) —0.119
11. 12 756.2 km
12. a) 607. 5 cm?® b) 445.5 cm® ) 506.3 cm?
13. No, the shapes are not similar because

the corresponding angles are not equal in
measure.
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